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vertex: (-2, -6); axis of symmetry: x = -2; minimum: -6;
* domain: all real numbers; range: y = -6

vertex: (3, 2); axis of symmetry: 3; maximum: 2; domain: all real
* numbers; range: y < 2

vertex: (1, 5); axis of symmetry: 1; maximum: 5; domain: all real
* numbers; range: y = 5

vertex: (-9, —4); axis of symmetry: -9; minimum: —4; domain:
* all real numbers; range: y = -4
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9 units to the right and 2 units up.
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vertical compression by a factor of 3 translation 1 unit to the

left and 5 units down.

y=2x-2)"+1

y=(—%)(x+5)2+4
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17. f(x) =4(x-1) -2

18. f(x)=(x-4) -4

19. f(x)= 8(x+%) -14
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f(x)= -Z(x +§) +?

1 second; 25 ft
y=x"-6x+5
y=-2x"+8x-8
y=x"+3x-18
y=-0.5x"+2.5x -7

y=-0.0043x" + 0.3521x + 0.3691
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26. To find the maximum altitude of the rocket (235.92 m), graph

the function and either look at a table or trace the function to
locate the vertex. The y-value of the vertex is the maximum

altitude of the rocket. The x-value of the vertex (6.939 s) is the

amount of time the rocket takes to reach that altitude.




